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)If5+3=28 then8 —3 = ?

2) Which is greater?
4+4 or 445

3) How do you spell 3?

4) Which has the greater mass?
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3) How do you spell 3? three
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The has a mass of 7 BB
The #ik has a mass of 5 BB

How much heavier is the ? 218



Measure mass

The <=> has a mass of 5P
The ‘ has a mass of 3 BB



Have a think m
The <= has a mass of 5P
The ‘ has a mass of 3 BB

How many blocks are needed to
balance the scale? 8
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Have a go at question 1
on the worksheet




What is the mass of a ‘ ?

A =28
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What is the mass of ﬁ @ ? 128
What is the mass of )@@ ? 10m



( )
@= 108
J

\_

What could make mass of 12 @ ?

(8o ] (00}




_touR TURN 2

Have a go at questions
2 and 3 on the @

worksheet
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Have a think —

M0 091l

What is the mass of " ?

85-: =




)

Have a go at question 4
on the worksheet




